MATH 235 SPRING 2011
FINAL EXAM

. (18 points)

(a) Consider the complex plane C as a two dimensional vector space with basis
B={1,i}. Let T:C — C be multiplication by the complex number 2 1 3i,
Le., T(2) = (2+ 3i)z. Find the S-matr¥¥df T'
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(b) Let A= Z _15 . Find the characteristic polynomial of A and determine
the eigenvalues of A. _
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(c) Find an invertible matrix P, with complez entries, and a dlagonm matrix D,
such that P~*AP = D. Justify your answer!
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(d) Find an invertible matrix S, wi ies
trix S, with Tf‘l,egltrleg, and real numbers q, b, such that

S1AS = ( ) ‘Qb ) Justify your answer.
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